I g Tl
\‘ National Testlng Agency

Test Date : 11 jul 2022 Test Slot : siot 1

|Subject : Sindhi

Sl. No.1
QBID:1521001

The following table shows the percentage of students (Boys and Girls) who have successfully
completed their respective academic programmes, namely, B A, B.Sc, B.Com., BBA_
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. 80% 60%
B.Sc. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.C.A. T0% 80%
B.Tech. T0% 60%

Faferiiaa arfer 3 faenfdel (efes *it o) =0 fawm goidl 2, Tee ws e # o, sl
., dfiEm, @S, fdu ot few aHE dwEiE FEEE ® awaaEs @ o2 owm
ATfCTh % 7S] & HER T 999 641 1 8 5 &F % 300 2

Hhe faenfoE = e -ar uiew

i, 80% 60%
1w, 80% 70%
Ejfeor] 40% 60%
it sl 90% 60%
.51, 70% 80%
Eifr 70% 60%

If the number of boys and girls successfully completing the B.A. programme are same, then
what is the ratio between the number of boys to the number of girls in B.A. programme?

(1) 4:3
(2) 5:3
(3) 4:9
(4) 3:4

Ifz oft.u, FEEE F TEAAEE T A T G5R I ASFAl S T g9E € 91 U, FEEe § age
1 T AR AR fi T & = agam = e

(1) 4:3
(2) 5:3
3) 4:9
(4) 3:4

1[Option ID=20201]
2[Option ID=20202]
3[Option ID=20203]
4[Option ID=20204]
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The following table shows the percentage of students (Boys and Girls) who have suecessfully
completed their respective academic programmes, namely, B.A, B.Sc., B.Com., BBA.,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. 80% 60%
B.Se. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.C.A. T0% 80%
B.Tech. T0% 60%

Feterfian arfernr 39 faenidei (sgs #it @sfe) =0 afowm 2w 2, fee o wiew § s, =
et diEm, @i, fid o o aww gEriE FEEE #® aweaaEs @ R ow
ATCTH & HTRE! % AU 9 U3 HEA 1 H 5 a6 o I S

whel TanieEl = A - g

iR 80% 60%
=1, T, 80% T0%
Eifeor] 40% 60%
CiCiA 90% 60%
=1, 70% 80%
Eifts 70% 60%

In B.Com, programme, 44% of the total students passed. If total number of boys in B.Com. is
200, then what is the total number of girls in B.Com.?

(1) 50
(2) 52
(3) 66
(4) 60

. wEET § Fo faEnfEt § § 44% Frndff @i gu) oz fwm G agw B o g 200 @ A
aw (fr.%0W) § Fo TetHa § g = 87

(1) 350
(2) 52
(3 66
(4) 60

1[Option ID=20205]
2[Option ID=20206]
3[Option ID=20207]
4[Option ID=20208]
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The following table shows the percentage of students (Boys and Girls) who have suecessfully
completed their respective academic programmes, namely, B.A, B.Sc., B.Com., BBA.,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. 80% 60%
B.Se. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.C.A. T0% 80%
B.Tech. T0% 60%

Feterfian arfernr 39 faenidei (sgs #it @sfe) =0 afowm 2w 2, fee o wiew § s, =
et diEm, @i, fid o o aww gEriE FEEE #® aweaaEs @ R ow
ATCTH & HTRE! % AU 9 U3 HEA 1 H 5 a6 o I S

whel TanieEl = A - g

iR 80% 60%
=1, T, 80% T0%
Eifeor] 40% 60%
CiCiA 90% 60%
=1, 70% 80%
Eifts 70% 60%

If the total number of boys and girls in each programme is 150 and 120, respectively, then
what is the approximate overall pass percentage of the college?

1) 64%
(2) 69%
(3) 72%
(4) 54%

oz oo FEFEA § weH N wetEa f e e w150 3 120 § © 3@ wiow § o mEn
Fefiol wiersr 7 27

(1) 64%
(2) 69%
(3) 7%
(4) 5%

1[Option ID=20209]
2[Option ID=20210]
3[Option ID=20211]
4[Option ID=20212]
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The following table shows the percentage of students (Boys and Girls) who have suecessfully
completed their respective academic programmes, namely, B.A, B.Sc., B.Com., BBA.,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. 80% 60%
B.Se. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.C.A. T0% 80%
B.Tech. T0% 60%

Feterfian arfernr 39 faenidei (sgs #it @sfe) =0 afowm 2w 2, fee o wiew § s, =
et diEm, @i, fid o o aww gEriE FEEE #® aweaaEs @ R ow
ATCTH & HTRE! % AU 9 U3 HEA 1 H 5 a6 o I S

whel TanieEl = A - g

iR 80% 60%
=1, T, 80% T0%
Eifeor] 40% 60%
CiCiA 90% 60%
=1, 70% 80%
Eifts 70% 60%

If the ratio between the number of boys to the number of girls in B.C.A. programme is 4 : 1,
then what is the ratio between the number of boys who have successfully completed B.C.A. to
the number of girls who have successfully completed B.C.A.?

(1) 9:4
(2) 9:5
3) 6:7
(4) 7:2

Ife <t zft.u wriwE § e i gen © go § Aol B e w1 ST 418 a1 o I s
et ST i T i ge # Sf.u, I FE T dehl T ST e v

(1) 9:4
(2) 9:5
(3) 6:7
(4 7:2

1[Option ID=20213]
2[Option ID=20214]
3[Option ID=20215]
4[Option ID=20216]
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The following table shows the percentage of students (Boys and Girls) who have suecessfully
completed their respective academic programmes, namely, B.A, B.Sc., B.Com., BBA.,
B.C.A. and B.Tech. in a college. Based on the data in the table, answer the questions 1-5:

Programme-wise Percentage of Successful Students

Programme Boys Girls
B.A. 80% 60%
B.Se. 80% T0%
B.Com. 40% 60%
B.B.A. 90% 60%
B.C.A. T0% 80%
B.Tech. T0% 60%

Feterfian arfernr 39 faenidei (sgs #it @sfe) =0 afowm 2w 2, fee o wiew § s, =
et diEm, @i, fid o o aww gEriE FEEE #® aweaaEs @ R ow
ATCTH & HTRE! % AU 9 U3 HEA 1 H 5 a6 o I S

whel TanieEl = A - g

iR 80% 60%
=1, T, 80% T0%
Eifeor] 40% 60%
CiCiA 90% 60%
=1, 70% 80%
Eifts 70% 60%

If the total number of girls in each academic programme is 90, then what is the total number
of girls who have successfully completed the academic programmes from the college?

(1) 321
(2) 331
(3) 351
(4) 245

A% geF S AT °§ wstEa B FE 9 90 # 9 3 wste f $9 qen 70 8, e w
el & g FEEd 3 R 7

M 321
2 331
(3) 351
4 245

1[Option ID=20217]
2[Option ID=20218]
3[Option ID=20219]
4[Option ID=20220]

Sl. No.6
QBID:1521006

In Swayamprabha, Video lectures are provided by

(1) DTH Channels

(2) Website www.swayam.gov.in

(3) Website www.inflibnet.ac.in




(4) Doordarshan Channels

=9 (SWAYAMPRABHA) ¥ fafeai =aream fFash gr 39ersy =00 91 8 7
(1) DTH %5

(2) ﬁwréz WWW._swayam.gov.in
(3) F=EEe www.inflibnet.ac.in
(4) qgasir{ =ed

1[Option ID=20221]
2[Option ID=20222]
3[Option ID=20223]
4[Option ID=20224]

Sl. No.7
QBID:1521007

What are the main qualities for a teacher to provide counseling to his'her student having
some mental health issue?

(A) Credibility and genuineness
(B) Being Judgemental

(C) Confidentiality

(D Lack of empathy

Choose the most appropriate answer from the options given below :
(1) (A)and (C) only
(2) (A)and (D) only
(3) (B) and (D) only
(4) (A), (B) and (C) only
F@ AATEEF TR Gl | OEa A9 e w1 e @d B OF e 7 osE-8 g 0 e
=feu?
(A) T 3w

(B)  EwE folaws 2
(C) T

(D) gl b
Fr= fau o el # @ e 3T I w99 i
(1) = (A) S (C)

(2)  Hae (A) &1 (D)
(3) Fa« (B) 3 (D)

(a) F (A, B) 3 (C)

1[Option ID=20225]
2[Option ID=20226]
3[Option ID=20227]
4[Option ID=20228]

Sl. No.8
QBID:1521008

Which of the following is not a MOOC platform?
(1) SWAYAM
(2> EDX

(3) COURSERA

(4) PG Pathshala on Inflibnet portal




Frefafas @ =E-w v MOOC wiewH T8 27
(1) SWAYAM

(2)  Epx
(3) COURSERA

(4) SRz 9Ed W ePG FreIen

1[Option ID=20229]
2[Option ID=20230]
3[Option ID=20231]
4[Option ID=20232]

Sl. No.9
QBID:1521009

Which of the following is NOT a trait of a good teacher?

(1) Full command over the subject

(2) Treating the intellectual ability of all students identically
(3) Alot of preparation and thinking in the subject before taking class

(4) Effective communication and presentation skills
freafefia # =1 ©F o= fes + aeaw 76 87

(1) fgwa & |t foam

(2)  fi Pt i difgs awar #1 aae wwgE

(3) e v H [ fawm i swafasw dmd i e

(4) st Huevr S S e

1[Option ID=20233]
2[Option ID=20234]
3[Option ID=20235]
4[Option ID=20236]

Sl. No.10
QBID:1521010

Which of the following is the major objective of education?
(1)  Developing economy
(2) Making students diseiplined
(3) Developing inherent abilities/ powers of students
(4) Making students followers of teachers
Frfafgs § =9 fen = 99 v9E 32579 &7
(1) F=EE & T w
(2) foenfif=i =t sanfEa s
(3) fenfifat € st aramr/ofF =i frsfam o
(4) Foanffat =1 foreri 1 sl =

1[Option ID=20237]
2[Option ID=20238]
3[Option ID=20239]
4[Option ID=20240]

Sl. No.11
QBID:1521011

When original participants in a longitudinal study drop out midway, it is called

1)




Experimental distancing

(2) Respondent deviation
(3) Mortality

(4) Sample redundancy

o el o g sremem @ o wewrlt He # Sigw 9 T €, df 3 e A 8
1) e it

(2)  wfeEr freem

(3) we

(a) et wafawm

1[Option ID=20241]
2[Option ID=20242]
3[Option ID=20243]
4[Option ID=20244]

Sl. No.12
QBID:1521012

Match List I with List IT

List I List IT
Types of Research Research Purpose

(A) Applied research (I Exploration and description of
concepts

(B) Basic research (II) To focus on objective assessment

(C)  Quantitative research (III) Contribution to knowledge

(D)  Qualitative research (IV) To find practical solutions to everyday
issues

Choose the correct answer from the options given below :

1) (A, (B)-(ID), (C)-(IV), (D)-(I1D)
(2)  (A)-(IV), (B)-(IID), (C)-(1D), (D)-(T)
(3) (A)-(II), (B)-(IV), (C)-(T), (D)-(1T)
(4) (A)-D), (B)-(I), (C)-(IID), (D)-(IV)

Tt-1 % =1 g=-11 =1 faem i
-1 H=A-11
T = Y 91y = 3274
(A) 3IgF WY (I) TFeaast 1 =m0 S v
(B) 3mgwdm Ty (IT) FEAME AE T S Hfga w5
(C) W Ty (IIT) 37 & e
(D) ToTERE Ty (IV) %A= 97l % =aeie aagE #1 9
T
= oy v fameui 4 € 98 3 =1 =94 ity

(1) (A0, (B)-(I), (C)-(IV), (D)-(I1I)
(2) (A)-(IV), (B)-(I1T), (C)-(1I), (D)-(T)
(3) (A)-(IID), (B)-(IV), (C)-(I), (D)-(1I)
(a) W-(ID, (B)-(0), (C)-(I1), (D)-IV)
1[Option ID=20245]
2[Option ID=20246]

3[Option ID=20247]
4[Option ID=20248]

Sl. No.13
QBID:1521013




For the selection of samples in research, the snowball sampling method employs
(1) Field workers
(2)  Opinion leaders
(3) Surveyors

(4) Referrals
vt | wledl & == < feru, Simia sfaes ugla Fefafaa w0aEm sl 2

1) e
(2) @AfwE A

(3) wEzw
(4) #haFEs

1[Option ID=20249]
2[Option ID=20250]
3[Option ID=20251]
4[Option ID=20252]

Sl. No.14
QBID:1521014
Under the Quality Mandate of UGC, the acronym ‘CARE’ stands for
(1) Commission for Academic and Research Ethics
(2) Cantre for Academic Research and Ethics

(3) Consortium for Academic and Research Ethics

(4) Computer-Aided Research and Edueation
7 it & % TorEe wtfeew % S aiEvl wes %R (CARE) % faeqa 9 3
(1) T wit vhefas v fed o
(2) Fz it wEf fed urs ot
(3) FHiiean B Uheibs vwe fim= o
@ SRR

1[Option ID=20253]
2[Option ID=20254]
3[Option ID=20255]
4[Option ID=20256]

Sl. No.15
QBID:1521015

(Given below are two statements :

Statement | :  In the inductive approach, a theory is generated out of research findings.

Statement II: In the deductive approach, research iz done in relation to the hypothesis

drawn from the theory in question.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement II are false
(3) Statement [ is true but Statement 1l is false

(4) Statement I is false but Statement II is true




A= 3w o T E -

e[ () . FARHATCHE 90 H, =I5 [Hgih Y & Heesl 3 3099 giar 2|

A (1) : Ao 390 A, 91", 994 & e faga & o 18 ofisesan & gag W e s 2
I HE % AeE °, A B EEedi § d g 3o s 99 Fifau

(1) FHA AR IEH a9 8 |

(2) oA 13 [ ZA 5757 § |

(3) FHITHE, v =1 [ 5@ &1

(4) T | 5EA 2, @A w0 115 21

1[Option ID=20257]
2[Option ID=20258]
3[Option ID=20259]
4[Option ID=20260]

Sl. No.16
QBID:1521016

One of the characteristics of oral communication system is that it is

(1) Mediated

(2) Point-to-point

(3)  Impersonal

(4) Noise laden

wifa® @ 61 v fosrean 7% 2 6 9w
(1) =EiEa (difseds) g @

(2) fig-z-fg g 2

(3) st B

(4) TS g 2

1[Option ID=20261]
2[Option ID=20262]
3[Option ID=20263]
4[Option ID=20264]

Sl. No.17
QBID:1521017

Which of the following elements are needed for the completion of classroom communication?
(A) Source
(B) Noise
() Content
(I Receiver
(E) Feed back
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (A), (C). (D) and (E) only
4) (B), (C), (D) and (E) only




Heql ° RN % o FAefeiaa 8 @ ®9E ae a8 7

(&) Hm

(B) i

(©) fowaeg

(D) v

(B)  wfagfe (Frsde)

H= fam o et & & wE IR w1 999 A

(1) F99 (A), (B) 31 (O)

(2) == (B,) (C) sk (D)

(3) ¥ (A), (C). (D) 3 (B)

(4) %= (B), (C). (D) 3 (E)

1[Option ID=20265]
2[Option ID=20266]
3[Option ID=20267]
4[Option ID=20268]

Sl. No.18
QBID:1521018

(Given below are two statements :

Statement I :  More communication means hetter communieation.

Statement II: Closely related persons do not have communication needs.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement I1 is true

el 21 o g T E

e ([) . wles geien =1 e agar geiee g |

For (1) :  Ffem § Fag =AfFaal i FEm AEvEEHar T4 g g |

IR F & e 4, e By e e § | 98 3 I w 9a fif
o) wo [ s [T EHT 8 £ |
(2) F4A 13 11 EA 35 £ |

(3) T HAE R, 9 F97 11 wme 21
(4) FTH [ s@a e, o T [ aa 2|

1[Option ID=20269]
2[Option ID=20270]
3[Option ID=20271]
4[Option ID=20272]

Sl. No.19




QBID:1521019

The sequential order of mass communication elements is

(A) Source and encoder
(B) Message
(C) Medium
(D Decoder

(E) Feed back

Choose the correct answer from the options given below :

(1)  (A) (B), (C). (D). (E)
(2) (A (D), (C), (B), (E)
(3) (A4),(C). (B), (E). (D)
(4) (A).(C), (B), (D), (E)

TG % Tl o HE A E

(A) @m IR gEEaEE

s

(B) wm
(C) HTEH

(D) gz wig%

(B)  wfagle ()

4= o o el § A a@E 3w 9 i

@ @.®).©),. D), ®

(2) (A). @), (). (B), (E)

3) (&), (C). (B). (E). (D)

(4) Q). (0, [B). D). E)

1[Option ID=20273]
2[Option ID=20274]
3[Option ID=20275]
4[Option ID=20276]

Sl. No.20
QBID:1521020

Match List I with Last IT :

List I
Sign Category
(A) Iconic
(B) Indexical
(C) Symbolic

(D) Profusion of signs

List IT
Example
(I} Language
(II) Photographs
(IIT) Smoke
(IV) Letters of alphabets

Choose the correct answer from the options given below:




(1) Q- (B)-(ITD), (C)-(IV), (D)-(T)
(2) (A)-(ID), (B)-(IV), (O)-(T), (D)-(I1)
(3) (A)-(D), (B)-(IV), (C)-(I1D), (D)-(T)
(@ W-D. B, (C)-aV), (D)-(IID)

Tt 1% @m gt 11 =1 T i)
T 1 = 11
fam = TR
(A) s @ W
(B) TEHEE (I wEmE
(C) waT=TeaH (I1T) ega
(D) Fo=i =1 anfirss (IV) =vieTen & 378%
fou T faepedt W & wE I w1 A SifA

(1) (A)-(ID. (B)-(III), (C)-(IV). (D)-(D)
(2) (A)-(LI), (B)-(IV), (C)-(I). (D)-(II)
(3)  (A)(ID), (B)-(IV), (C)-(IID), (D)-(T)

(4) (A)-(I), (B)-(II). (C)-(IV), (D)-(III)

1[Option ID=20277]
2[Option ID=20278]
3[Option ID=20279]
4[Option ID=20280]

Sl. No.21
QBID:1521021

Find the missing term in the series below:

R e e S
(1) 74
(2) 75
3) 71
4) 72

i i 1 e ¥ q 3% e
2,5,0,19,37, % .......

1 74

2 75

3) 71

(4) 72

1[Option ID=20281]
2[Option ID=20282]
3[Option ID=20283]
4[Option ID=20284]

Sl. No.22
QBID:1521022

The average of 5 consecutive numbers A, B, C, D and E is 48. What is the product of
A and E?

(1) 2000

(2) 2300




(3) 2200
(4) 2100

5 TR "t A, B, C, D it E % 3fwa 48 #1 A 3t E 1 1oFwe 71 87
(1) 2000

(2) 2300

(3) 2200

(4) 2100

1[Option ID=20285]
2[Option ID=20286]

3[Option ID=20287]
4[Option ID=20288]

Sl. No.23
QBID:1521023

Arrange the following words according to English dictionary arrangement:
(A) Epitaxy

(B) Episode

(0 Epigene

(D) Epitome

(E) Epilogue

Choose the correct answer from the options given below :

1) (), (E), (B), (A), (D)

(2) (C), (B}, (A), (B}, (D)
(3) (0), (A). (E), (B). (D)
(4) (C) (E). (B). (D)., (A)

Frafafia w=gt =it 3@y 9 & oEn W@

(A) Epitaxy
(B) Episode
(C) Epigene
(D) Epitome
(E) Epilogue

A= feu m fompedt § | wd I @1 =59 Fifau
1) (C), (E). (B). (A), (D)

) (), B), &), (B), (D)
@) (©. @), E), B), (D)

(4) (C). (E), (B), (D), (A)

1[Option ID=20289]
2[Option ID=20290]
3[Option ID=20291]
4[Option ID=20292]

Sl. No.24
QBID:1521024

A person traverses a certain distance in one hour, 24 minutes by covering two third of the
distance at 4 km per hour and the rest at 5 km per hour. Find the distance covered by the
person.

(1) Bkm
(2) 8km
(3) 65km
(4) Tkm

w =faa 21 foes gl 4 Feoft. ufa oer & v @ s 9 5 fRf. ofa gz Fionfa & oF g 24 e A
s T 2l a7 A & | 39 =ied grn a9 = s gl =




(1) g

(2) g
(3) 65T
(4) 7R

1[Option ID=20293]
2[Option ID=20294]
3[Option ID=20295]
4[Option ID=20296]

Sl. No.25
QBID:1521025

A producer allows a commission of 36% on the retail price of his product and earns a profit of
8.8%. What would be the profit of the producer (in percentage), if the commission is reduced
by 24%7?

(1) 49
(2) 45
(3) 496
(4) 4586

TF IUEF A IR H G FHG W 36% F OFHEA g0 # I 8.8% F AN AlAA a1 g1 I
FleE 24% 9 FL EE 9 Al Ieaes 1 oy (wihwd 4)  fRa g

(1) 49

(2) 45

(3) 496

(4) 456

1[Option ID=20297]
2[Option ID=20298]
3[Option ID=20299]
4[Option ID=20300]

Sl. No.26
QBID:1521026

In classical square of opposition if ‘Some S is not P is given as false then which of the
following could be immediately inferred from it?

(A) ‘Some S 1s P 1s true

(B) ‘Some S 1s P 1s undetermined
(C) ‘Some S 1s P is false

(D ‘All S1is P’ is undetermined
(E) ‘All S1s P 1s true

Choose the correct answer from the options given below :
1) (B (C). (E)only
(2) (A, (C), (E) only
3) (B), (C), (D) only
@) @A) (0), (D)only
fttg % = & afg, 9f7 ‘Fw S, PAE ¥ vew & ww A T mn § ww fefataa 5§ s mE g
Torpren w1 TR B 7

A) ‘FBS.PEEdR

(B ‘F= S, PE wfifm )
(€ ‘FWS, P E Tem R
(D) ‘@ S, PF wfiifE &
(B) ‘=S, pd ade

Fr= feu T et W & T I W == it
(1) F= (B), (C), ()
(2) a4 (A), (C). (B)
(3) F=4 (B), (0). (D)

(4) F=E (A), (C). (D)




1[Option ID=20301]
2[Option ID=20302]
3[Option ID=20303]
4[Option ID=20304]

Sl. No.27
QBID:1521027

Fallacy in which a proposition is held to be true just because it has not been proved false, or
false just because it has not been proved true is called:

1)
(2)
(3)
(4)

Fallacy of Composition
Irrelevant Conclusion
Argument from Ignorance

Hasty Generalization

qwraTE T ol 7% T 1 $9o 38 S0 3 98 99 94 & FF 30 e ot 78 e e g, s™en
TTeid shael 39 HA0 H T 38 98 afad 987 G T @ = FE e g

(1)
(2)
(3)

(4)
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1[Option ID=20305]
2[Option ID=20306]
3[Option ID=20307]
4[Option ID=20308]
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(Given below are two statements :

Statement [ :  The statement — “A person without a purpose is like a car with no engine.

And that's a useless piece of machinery” is an example of analogical
argument.

Statement I1: The statement — “A person with no purpose is like a car with no engine. And

that's a useless piece of machinery” is an example of non argumentative use
of analogy.

In the light of the above statements, choose the correct answer from the options given below:

1)
(2)
(3)

(4)

1)

(2)
(3)

(4)

Both Statement I and Statement II are true

Both Statement I and Statement II are false
Statement I is true but Statement II is false

Statement I is false but Statement II is true

FE G A £

wo () : 9% 99 - T 35gva % uw =Afw fa $9 % R Am § o 9y sgmErh e 2
TETAETF T 1 T FETE £ |

Fo (1) : 8 F9F - Teegg =i 51 399 & ®0 S99 & &1 98 ogant s 8 5eed w1 o T
% TYA = Uk IEE E |

FTHEIE FE % Al |, A B e el § 4 98 e % 95 it
oy [ i [ 2H 99 £ |

o 1 3 [ AT 3@ § |

FoH 1 TeF §, S Fo 1 38 B |

9 [ 318 2, ot oA ([ 2

1[Option ID=20309]




2[Option ID=20310]
3[Option ID=20311]
4[Option ID=20312]
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Given below are two statements :

Statement [ :  Classical Indian Logicians (Naiyvayikas) recommend the use of the negative
modal or counter-factual conditional (tarka) to fortify or confirm the major
premise.

Statement Il : Naivayikas accept tarka as a valid independent source of knowledge.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement Il is true

g G # .

wy () : e AR A g SaR-aeE w (2w A9 35 9 # h ET TR
Aigel ST Sia-aeareds (q) H ST B F1 SATHE Fd 8|

o (I1) :  =ieert ek %1 79 % (T 99) =60 399 W6 & &9 1 Hiehn w0 & |
T FOE F A A, A9 e e e § | 9 w1 == i

(1) Fu [ A o0 £ |

(2) =ua 131 I ZH1 8 2 |

(3) FHA lT= &, o 99 1L s 21

(4) o 1 318ca 2, i F94 [ 59 7 |

1[Option ID=20313]
2[Option ID=20314]
3[Option ID=20315]
4[Option ID=20316]
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Any object if thrown upwards starts to come downward after reaching a particular height.
Therefore there must be some force that must be pulling that object towards the Earth's
surface. This argument is based on which of the following means of knowledge?

(1) Postulation (Arthapatti)

(2) Comparison (Upamana)

(3) Verbal Testimony (Sahda)

(4) Perception (Pratyaksa)

=15 oft aeg afy 3@ I i HE A, oh ey S99 vged % g 9 sin e e g,

W FF I FGvd B S 39 % i Y=t A waw A G0 €@ w w5 A a6 39 % efeiad e
o S| 27

(1) it

(2) FUHE
(3) 1= WHOT

(4) T

1[Option ID=20317]
2[Option ID=20318]




3[Option ID=20319]
4[Option ID=20320]
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With respect to different number system bases, each number in the sequence 10000, 121,
100, 31, 24, P, 20 represents the same decimal number x. The missing number P in this

sequence 1s:
(1) 22
(2) 21

(3) 23
(4) 16

fir=1 g ugfa gl & g924 § "= w6 10000, 121, 100, 31, 24, P, 20 § Yede H&0 G9H g9Hed
e x Wi A R | H e S P T W R i g

(1) 22
(2) 21
(3) 23
4) 16

1[Option ID=20321]
2[Option ID=20322]
3[Option ID=20323]
4[Option ID=20324]

Sl. No.32
QBID:1521032

(Given below are two statements :

Statement [ :  Most PCs use Dynamic RAMs for CPU Cache.
Statement II: Static RAM is faster and more expensive than Dynamic RAM.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement [I are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

#r= & oA RE T E .
Fo () - Al 0t =, S @ g 59 % T wfos (seafis) = = smm = 8
e (1) . wifeen (2fem) 9 demdl 2 ofi e (SrEfs) e a st =il 21

IULE e & A §, A1 R el § 4 98 39 = 954 il
1) FERIATINIA TT 2 |
(2) FoA [ &0 [IZH 533 2 |
(3) FF 1= 7, wiie A 11 5% 2 |
(4) F [ 55 7, offF #e [T 2 |

1[Option ID=20325]
2[Option ID=20326]
3[Option ID=20327]
4[Option ID=20328]

Sl. No.33
QBID:1521033




Which of the following peripheral devices are considered as only input devices?
(A) Speaker

(B) Barcode Reader

(C) MODEM

(D) Graphic Tablet

(E) Microphone
Choose the correct answer from the options given below :

(1) (B), (D) and (E) only

(2) (B), (C) and (D) only

(3) (A). (B)and (E) only

(4) (C). (D) and (E) only

Frafafaa aftdim (StRe) awon § § -8 Fad 7192 01 % 59 94 919 87

(A wE

(B)  wwes st

(C) wEw

(D)  wfes e

(B) Amhiem

#r= fau o fedi # | B I @ = fifaw

(1) F=a (B), (D) 3 (E)

(2)  F=F= (B), (0) #1 (D)
(3) T (A). (B) 3R (E)
(@ F(C), (D) 3R (E)

1[Option ID=20329]
2[Option ID=20330]
3[Option ID=20331]
4[Option ID=20332]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) :  The Internet of Things (IoT) is a rapidly evolving technology due to its

wide range of applications.

Reason (R) : [oT is inherently immune to Cyber attacks.

In the light of the above statements, choose the correct answer from the options given below :

1)




Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)istrue but (R) is false
(4) (A)is false but (R) is true
:ﬂéﬁlwﬁqm%:ﬁaﬂi%ﬂq (AssertionA)%qu{i%@ﬁ%ﬁlgﬁﬂm%mmeasonR)%@
H
TR (A) - e A% g (o o f) S =T TR W SEEm (TeihTE) R et
¥ Tt B9 arefl drenfER 81
== (R) : HAE #Al ¥ HgE gHeEl | seai-ied B9 8 il 2 |
IYH HEH AT 5, A B T fement 8 8 w6 e e il
(1) (A R (R) ZF 71 § 3 (R), (A) F1 & =mem 2

(2) Q) st R) 3 @ &, S (R), (A) 91w samem 76 )
(3) (A) T &, 96 (R) 378 £ 1
(4) (A)THAE, A (R) 58 7

1[Option ID=20333]
2[Option ID=20334]
3[Option ID=20335]
4[Option ID=20336]
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Consider the following information based on an email software application in whicn an email

attachment is being sent:

From : A Ce : C,D

To : B Bee @ E

Subject : CV of Amit

Message : Please find attached the CV of Amit.

with regards

Attach : AmitCV . doex

How many people will receive copies of the attachment?

(1) 2
(2) 3
3) 4

@ 5




THE WA USRI T SATEIE Feteigd geis W faEn it (eE T § Hel e ®0h 99 o

w2l
T . A o =it ;D
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(1) 2
(2) 3
(3)

(4) 5

1[Option ID=20337]
2[Option ID=20338]
3[Option ID=20339]
4[Option ID=20340]
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Global warming is attributed to the presence of the following gases in the atmosphere:
(A) Methane

(B) Sulphur dioxide

(C) Surface Ozone

(D) Nitrogen dioxide

(E) Carbon dioxide

Choose the correct answer from the options given below :

(1) (A (B).(C), (E) only
(2) (A), (C), (E) only

(3) (A, (C), (D), (E) only

(4) (A),(B), (D), (E) only




e | efataa § 8 6 a6 sufeats w0 Sfves aa (veme anfEn) F fo e ssmn
AT RT

(A) e

(B) HTR SEAFERES
(C)  @de i =3 g
(D) AT STESFEILE
(B) A 3 mTse

A= feu mu ool ° & 9 39 = =99 Fifaw
(1) e (A), (B). (O), (E)
(2) F (A), (C), (B)

@) Fae (A), (0), (D), (E)

=Hae (A), (B), (D), (E
@ (A), (B), (D), (E)

1[Option ID=20341]
2[Option ID=20342]
3[Option ID=20343]
4[Option ID=20344]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A) : In vitro testing forms the basis for hazard identification.

Reason (R) : In vitro studies are performed within the same biological entities.

In the light of the above statements, choose the correct answer from the options given helow :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

Fr1 =1 e fEu T E : wF i (Assertion A) % %9 # fafia 2 1 900 365 F0 (Reason R) F 9
.

Al (A) et wiem (2fEan) saer vE=e % o s @ i s 2 )
o (R) : AR oE G Ha-Hears] & et Hoarten R e # 1

I FeH * A §, A By el § @ |8 39 = 99 St
(1) (A) 31 (R) 5F1 Te3 £ 311 (R). (A) =i 921 ==mem 2|
(2) (A SC(R) I &9 &, <A (R), (A) i we =wen 76 7 1

(3) (A) e 2, S (R) smma 21




@ (A) #15ed &, =i (R) 909 &l

1[Option ID=20345]
2[Option ID=20346]
3[Option ID=20347]
4[Option ID=20348]

Sl. No.38
QBID:1521038

Match List I with List II

List I
(Types of Waste)
Municipal waste
Toxic waste
Biomedical waste

Agricultural waste

1[Option ID=20349]
2[Option ID=20350]
3[Option ID=20351]
4[Option ID=20352]

List IT
(Examples)
(I) e-waste
(I} Straws
(ITIy Demaolition waste
(IV) Syringes

Choose the correct answer from the options given below :

11
FETE
@ $-F=u
In =z
(ITT) wem

(IV) Tt (Tafeem)

(1) (A1), (B)-(ITI), (C)-(IV), (D)-(IT)
(2) (A)-(IID), (B)-(I), (C)-(AV). (D)-(ID)
(3) (A)-ID), (B)-(D, (C)-(IV), (D)-(11D)
(4) (A)-(IV), (B)-(I1I), (C)-(1), (D)-(IT)
-1 % Ty gE-11 = foem ifs
-1
HUTE & THH
(A) @ s
(B) Temmere smafire
(C) “a-Tafreea F=u
(D) Ff i
i fau o el 8§ & a8 39 =1 =59 il
(1) (A)-(1), (B)-(I1D), (C)-(IV). (D)-(IT)
(2) (-, B)-(D), (C)-AV). (D)-(ID)
(3 (A)-(D. B)-(D). (C)-(IV). (D)-(111)
(4)  ()-(1V), (B)-(I1D), (C)-(1), (D)-(11)
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Gray Water consists of
(A) Kitchen waste water
(B) Waste water containing fecal matter
(C) Waste water from industrial units
(D) Bathroom waste water
(E) Water from agricultural run-off
Choose the correct answer from the options given below :
(1) (A), (B), (C), (E) only
(2) M), (C), (D), (E) only
(3) (C)and (E) only
(4) (A)and (D) only
Heden () 9 | mide g #
(A)  TERER A S T
(B) = v - et smfne W=
(C)  sfeifie S & smafie =
(D) HHEFT - FYEE 6
(B) =% &= & =g 70 =

Hi= e o oot § @ gt 39 @ =99 Sifau
(1) FaF (A). (B). (O). (B)

(2) Fa (A), (C), (D), (E)

(3) Fad (C) 3 (E)

@ (A) 3T (D)

1[Option ID=20353]
2[Option ID=20354]
3[Option ID=20355]
4[Option ID=20356]
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Concept behind fuel cell vehicles (FCVs) is
(1) Using solar energy to run cars
(2) Using rechargeable batteries to run cars
(3) Using hydrogen and oxygen to run cars
(4) Using improvised CNG to run cars
o e AT (T He Afeer) (UF AT % S A e § -
(1) = e 7 |1 39 F1 I FEAT
(2) =1 IEH 79 [ I A0 A2 F IE FA
(3) =R TEH & TESI T ATFE TH F1 3T FEA
(4) FR ITH T W 9605 (3HEEes) @ w off w1 37 e

1[Option ID=20357]
2[Option ID=20358]
3[Option ID=20359]
4[Option ID=20360]
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‘SAMVAY stands for

(1) Skill Assessment Matrix for Vocational Advancement of Youth
(2) Skill Accreditation Matrix for Vocational Assessment of Youth
(3) Skill Assessment and Monitoring Vocational Advancement of Youth
(4) Skill Assessment and Monitoring of Vocational Aptitude of Youth
‘wWuwd vaE w e s R

(1) o smmie #fym o Sehee wgatate @ g

(2) fore Ghifsesm Afgam SR FeHe ST A6 99

(3) fora swEwe s e Hi% kv saiEhe % g9

(4) e sz Us wiiefm i S Tieegs o 99

1[Option ID=20361]
2[Option ID=20362]

3[Option ID=20363]
4[Option ID=20364]
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Objectives of Value Education are

(A) Responsible and cooperative citizenship.
(B) Development of skills and imparting vocational training.

(C) Developing democratic way of thinking and inculecation of the spirit of National
integration.

() Respect for dignity of individual and diversity in society.

(E)  Development of physical, mental, emotional and spiritual aspects.
Choose the correct answer from the options given below :
(1) (A). (B), (D), (E) only
(2) (A), (€), (D), (E) only
(3) (B), (C), (D). (E) only
(4) (D), (E) only
o W e ¥ 35 #

(A)  ScErE i Tl AT

(B)  =iviet foshrm s saramitas wfiem w2 w0

(C) o % wikaites ailh 1 3w *= it Wi what 1 9= F1 59 § gham
(D)  =w & FafFawar sin f&faam £ ofon 1 wmm

(B) ifoss, amfes, AEfTS o senfors Jagel =1 e w0

= fou o fmredl & & w6 3w wAa Fifa
(1) Faa (A). (B). (D). (E)
(2) =4 (A), (0), (D). (B)
(3) Fa@ (B), (C). (D), (E)
(4) F44 (D). (E)

1[Option ID=20365]
2[Option ID=20366]
3[Option ID=20367]
4[Option ID=20368]
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According to UGC guidelines (2021) for Multiple Entry and Exit in Academic Programmes
offered by higher education institutions, a student seeking admission to 4-years
undergraduate degree (Hons/Research) should have academic qualification of level

1) 6
) 7
3) 4
@ 9

F=9 Tom Sl g0 wEW srRE AT 6 Gg-yaw o frem & o g o o % e e S
SER, 4 — 99 & e (9 /) faft s @ s % o e ow e 6 s g
uIH B =i |

1) ¢

(2) 7

3) 4

(4) 9

1[Option ID=20369]

2[Option ID=20370]

3[Option ID=20371]
4[Option ID=20372]
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In which of the following countries, the research and innovation investment as percentage of
GDP is the lowest?

(1) India
(2)  South Korea
(3) Israel
(4) USA

Forafafaa goi # & f5m § Wiy it 79 w969 W O Hie] 360 I WiqEa FEw =men 87

(1) ¥Rd
(2) =fEm wifn
(3) T
(4) LWL

1[Option ID=20373]
2[Option ID=20374]
3[Option ID=20375]
4[Option ID=20376]
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Which of the following statements is true regarding Dalhousie?

(A) He supported Thomason's gystem of varnacular education in North Western provinece.
(B) He provided the first official support for female education in British India.
(c He supported Thomason's plan for technical education in Bengal.

(I He reformed the Hindu College and made it the Presidency college of Calcutta.
Choose the most appropriate answer from the options given below :

(1) (&) and (B) only

(2) (A), (B) and (C) only

(3) (B), (C) and (D) only

(a) ). (B), (C) and (D) only




TARIF % H99 § FEiEniEd § 9 S 9 9T 98 87

(A)  FEH IT-ufTeE! w A Fagen (ZE) e ff otrea st w5 el
(B)  fafem wwa & wfeen fen 7 367 vecht snfuies qemar sgm@ i)

(C) 304 5l | w1 fien 3 T gimes Je & g9ea e |

(D) 3w Teg wieiw | gum fFn A 38 wem § s e s

Fr= fou o faeedi # @ T99 I S W WA A0

(1) A (A) 3R (B)

(2)  =Faa (A), (B) 1 (0)
(3) FA (B), (O) 3 (D)

(4) A9 (A), (B), (O) 3 (D)

1[Option ID=20377]
2[Option ID=20378]
3[Option ID=20379]
4[Option ID=20380]
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyvond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful inecentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances hecome dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why wviolence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one's
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.

Traefian 32 =i 98 @R uvd & I 3 -

s Tagri it wra aue siw & s Fa fyem sh amtss s & fGfem F a1w 1
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Tt IR = e g | fafe R % o e sw e = s S T W e 8,
Tomrh sTam W o T e fRT S @eRd 8 SN SR TEREe % AU F9 % ol ge i 8 |
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&t wima-TE 1, 79 = v el nfadaw & el # g W @ fme i ke afee
& 21
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According to the above passage, various religious ideas prompt new forms of

(1) Human environment

Social mobilisation

(3) Incentives

Abstractions

I T & A{ER afie aifdE e e e w9 w agEe w27

(1) HF= ==
(2) wwito= TEgem
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1[Option ID=20381]
2[Option ID=20382]
3[Option ID=20383]
4[Option ID=20384]
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyond anything that exists
among chimpanzees, In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful incentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This 1s most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances become dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why violence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one’s
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.

Fremfad 3z i 78 o 79T % I g
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Emotional attachments often cloud

(1) The observed reality

(2) The belief in invisible forces

(3) The reiteration of social rules




(4) The existing simple theory of the world
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyvond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful inecentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances hecome dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why wviolence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one's
own life, or the life of the loved one, which is why fear and insecurity typically motivate
people to do things that mere material self — interest does not.
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Tendency to invest in mental models with intrinsic worth promotes
(A) Opposition to social control

(B) Social stability

(Cy Preserving dominant ideas

(D) Secularisation of society

Choose the correct option :
(1)  (A) and (B) only

(2) (B)and (C) only
(3) (C) and (D) only




(4) (A)and (C) only
AMA 9o % Htes yiaeat # fEw w2 A gt w8 e dafds e g7
(A) gt Fremm = R
(B) T T
(C) et o= = e
(D) =Em -
Hﬁﬁﬁqﬁﬁﬂ
(1) = (A) 3 (B)

(2) 3w (B) 3 (Q)
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyvond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful inecentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances hecome dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why wviolence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one's
own life, or the life of the loved one, which is why fear and insecurity typically motivate

people to do things that mere material self — interest does not.
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Because of mental investment, political development is invariably associated with

Economic motivation

(1)

(2) Prolonged stasis

(3) Conditional adjustments
(4) Violence
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Read the following passage and answer questions :

The human capacity for abstract theorising soon produces a host of new rules for mastering
the environment and regulating social behaviour that go well beyvond anything that exists
among chimpanzees. In particular, ideas concerning dead ancestors, spirits, Gods and other
invisible forces create new rules and powerful inecentives for following them. Religious ideas
of various sorts enormously increase the scale on which human societies can be organised
and constantly generate new forms of social mobilisation. The highly developed suite of
emotions related to norm following ensure, however, that no mental model of how the world
works is ever regarded as a simple theory that can be discarded when it no longer conforms
to observed reality. Even in the domain of modern natural science, where there are clear
rules for hypothesis testing, scientists develop emotional attachments to theories and resist
empirical evidence indicating that their pet theories are wrong. The tendency to invest
mental models and theories with intrinsic worth promotes social stability and allows
societies to bulk up enormously in size. But it also means that societies are highly
conservative and fiercely resist challenges to their dominant ideas. This is most obvious in
the case of religious ideas, but secular rules also tend to be invested with great emotion
under the headings of tradition, ritual and custom. The conservatism of societies with regard
to rules is then a source of political decay. Rules or institutions created in response to one set
of environmental circumstances hecome dysfunctional under later conditions, but they
cannot be changed due to people’s heavy emotional investments in them. This means that
social change is often not linear — that is, a process of constant small adjustments to shifting
conditions — but rather follows a pattern of prolonged stasis followed by catastrophic change.
This in turn explains why wviolence has been so central to the process of political
development. As Hobbes points out, the fear of violent death is a very different emotion from
the desire for gain or economic motivation. It is extremely difficult to put a price tag on one's
own life, or the life of the loved one, which is why fear and insecurity typically motivate

people to do things that mere material self — interest does not.
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The passage draws our attention to the influence of

1)




Empirical evidence in theorisation

(2) Secular norms on society

(3) Abstract ideation in human mind
(a) Shifting social behaviour
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